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1. \Nhitl:h{ofth'é following dances is 3 sole
dance ?
(A) n Ottan Thullal
(8) Kuchipudi
(C) Yakshagana
(D) -Odissi -~ .

Prerffad § @ AT WA Ta © 7

(B) Hfagsl
(C) J&MH
(D) 3IifsH ;

2. nName the birthplace of Mahavir

Swami.
(A) Lumbini (8) Gaya
(C) vaishali (D) Kannauj
qﬁwﬂ%m@mmmmn
() ofet () T ,
_€)  Fmed (D) A g
mmander of the

3. Whoisthe supreme co

armed forces of India ?
(A) The Chief of the Army staff

(B} The Defence Minister
(c) The prime Minister
(D) The president )
T 3 Te gl @l ot TS A
21 !

g e

i tween the width
tional Flag?
A T eh ard

5.

Which one of the following is a land-
locked State ?

(A) Gujarat

(B) Odisha

(C) West Bengal
(D) Jharkhand

Crfiftag § & ST T 3-3ER

TR ?
(A) (8) anfEsm

(©) _qf%fcrénﬂ or FTES

certification indicates -;'a

Which
for food products

guarantee of quality
like ghee, honey, etc. ?
(A) 18l (B}
(C): 'BIS
= 91
wige s i e B Mm@ W g
(a) STECEIE (B) T

(€) HAETE oy Tead

What is the shape of the
(A) spherical

(8) Elliptical

(C) Oblate spheroid-
(D) Conical '
eaft <1 SFIC Fef1 87

(a) T cal/ S
(C) e (D)

collowing games 1

Agmark
All of these

earth ?
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30, the hour hand and the minute

9 Who invented Helicopter ? 13. At3: :
' . {A) Copernicus hand of a clock form an angle of
(B) Sikorsky (A) 60 degree  {B) 75 degree
' (€C) Cockrell it ' (c)90 degree (D) 100 degree
(D) Drinker 3:30“,3@'@@@3@@1%3%
e R e R R 7| & fera =0T T VT B 8 2
N Eotn el | \ (a) 60 feit (8). 75 &
: ) TR 46 sofeht (D) 100fed
-~ .(0) Hintd { 14. |Ifin certain language KINDLE is coded
(D) - ¥ a5 ELDNIK, how is MASTER coded in
_ _ that code?
10. Arrange the given u:ul'c;r_c_ls in - ‘?Ifé o qtqlq KH\IDLE%
* alphabetical order and select the one | ELDNHf%Wﬁ""“gE[mW a,‘(ﬁ
that comes first. - g re § MASTER i &8 wifsd it
.y fow T ] AT AT T STAfR @t | AT ?
Ok T TR 3R Aol e o = B | (A) RTEAMS 18" RETSAM
5 Acquire, Achieve, Actual, Accumulate, (C) ETRMAS (D) MRETAS
K o ;?Uit 15. Find the missing number in given
T - ')" Accumulate &3 @ | serics_fo”owing the same pattern.
.(B) . Actual i T e &7 e S § QTS T
(C)- Acquit W ' ﬁgﬁj@nmﬂaﬁﬁq | 'ﬂ -
(D) Achieve ; 121, 123 126,131] 138149, 162/T2)
L aEee N\ | EETRE
11, 25: !::.ng 533 > WY (C} 198 (D) 210
A 156~ ,° (B), 158 6}(\’\ 16. A person starts from home and moves
“(C) 168 IW\'}B)/ 171 . . towards west by 10 km, ‘then tums
S right and moves by 6 km, again turns
12. Radha is Shyam’s sister. Rita s Shyam'’s right and moves by 14 km, again tumns
mother...Anil' is Rita’s father. Geeta is left and moves by 4 km and at last
., Anil's mother. Then how is Radha- :::ms left and moves by 4 km. How far
ted to Anil 7 . - e person is from home position?
C\lﬂ lr;l]a’eDazghr;er o ' wt % (Al Bkm (B) 4km
- (B) . + Son , X\‘ 4.5 o L€} Iﬂkma (D) 14 km
' ‘ , i : T Fite o1 § Il I
Qfd"(r? Grangson h . b (9 ufgem &Y 3K 10 %:ﬁ' ﬂamﬂb m%a|£$
D) Granddaughter " @ ) <
; ", vaT o 9E € | f¥a1, T A AS mﬁsf“g;itlﬁ:‘mm% i & T
‘R | s, or 3 v &  ofvr, 7P A 2 it feprit =rerar @, it @ @Y
| sifre & fo & ST 4 fEpl wreran § AR 3 H
ol ® 0 @ T, Sy T AT 2 st =
& gt \ fRfrafeigdr
() ¥ (@) l () efeft  (B) 4
( @ .7 (0) | () 10feh (o) 14FF
o e 3 S “
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17. Akshay, Brijesh, Chetan, Darshen 19. In how many different ways can the t
Eshan, Freya 2 ndGunJanareseathf’“ letters of the word “LETTER” be |
a circular table with faces at eacth || Rrangede : i
other. Freya is next to the left of | TMeE "LETTER” o 3 i fohem 3iemm- '
Chetan and Gunjan is second tothe left maﬁﬁﬁmﬁﬁﬁmmm% ? |
of Chetan. Akshay is seated thirdtothe || A; .
D left of Eshan. Brijesh is between (_] 320 270 £7'\> \‘\7(95*. \ -
Darshan and Eshan. Who is sitting to (C) 180 J,D) 60 \2e T
C the immediate left of Akshay? <L |
(o]
(A) Darshan (8Y” ch_gan 20. Find the area of an equilateral triangle
(C) Freys (D) Brijesh & (in cm?), having side 11 em.
A&, gaiTl, :
E_ﬂq;é WmT'xz?lﬁgm T WHaTg B e (S )
TR - T <hifsre, Reehl wom 12 AR |
TE S H3 ¢ | 3641, ol 5 914 | 3T W 20 .ET B 3
e, T SR d qEn W | A e : i
s, dR s e admemAwdad) | AN O 30\3 30.25¢3 )
o], ¥ ST S e 2 | 250 S : G -
g&aaﬁaﬂr&a%? 21. If—i—%: %E thenx = ? {}_ﬁ? —#—:;,ﬂ——
(A) & (B) = Q\ ﬂﬁma 0133?h ‘W
188 78
() 3 (0) T ‘~ (A) 0188 (B 1. g8\
18. Choose the Venn diagram which best - |\ '(c} 1is.8 (D) 188
:explains relationship among given ) .
items . 22. Product of twol'ffo-primg numbers is :
g;n, Moon, Jupiter A 221. Their LCM should be |
ey 3”{@_3:'?@'"@‘33?? % i Hey ) 'c?t TR-3TY HEA3T 1 PR 221
ST 371 T8 e {1 591 LCM BT TR >
(€) 13 17
(A) p oy
.. 23. Walking atgof its usual speed, a man~
Q J (- < s 10 mlnutes late. Find his usual time
VAB) Q O 5 * to cover the journey in minutes., .
g AT T e & 2 zﬁnﬁr%aaﬁm
@ Q%wﬁsmﬁm%ﬂﬁw%\waﬁ
() O » - qu st ¥ g e A v e A ‘
bv,ao'}* ; 31d 'Cﬁ%fQ | :
- L L (A) 20 (B) 40 ;
D) /,] 0o O, .l
: \ l 0521
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24,

A book was sold for T 50 with 5 profit
of 10%. If it was sold for ¥ 45, then
what would have Been the .

approximate percentage of profit or'
loss ?

(A} 3%Loss P
(B) 3% Profit - u“._.-. |
C % Profit
M% Loss ‘ b\gé
T fRae =i 10%%@?%@?50131
ST AR T < 45 B S e, dve |
mgrﬁmmﬁmwmnﬁmm@m T
(A) 3%EH < 1

vosi(B) 3% Y

L Q) 1%

25.

)

26.

(0): 1%®M ;
Find the campound intereston ¥ 3,000',
at 5% per annum for

cnmpounded annually.

% 3,000 W 5% Wi 7 H T A zaﬂﬁ%"
feru anfiies Tsrafg = 3 AT |

(A) 250.2 (2
(8) 3509 ol

2 vyears

¥3075 '
(D) %4085

How many natural numbers between

“ 31 and 100 are exactly dlvisible by 37

0521

31 37 100 % = Reet wepa ded 3
A gufa: o 8 ¢
(A) 30 ©f 20

() 25 (O} 23:

©@Ps

X ?
(:Q |
‘} A

30.

27. Acanfinishaworkin10daysandBean

do the same work in 20 days. A and B
worked together for 5 days and then 8
left the job. In how many days A zlone
can finish the remaining werk ? = P

A@Wﬁlﬂﬁﬁ@aﬁm% @
AR B TE! ™ Wi 20 AT T o goar 2

A 3 B @& O 5 & 9% =1 feat

3R 5 B 3 = Big fean) A sFer
& =l frad R i o s ? 2

Ay 3/2 (B) 9/2

ef 572/

28. What will be weight of the body at
moon, if its weight on earth is 36N ?
(A) Less f_han 36N '
(B) More than 36N
(C) 6N
(D) None of these .
ﬁmmﬂsmﬂmmm tn‘qzaﬁ
TIHHTAN3GN R ?

AA) 3NIFW (B) 36N S
(C) 6N (D) FHIRRTE

29. The correct Sl unit to represent the
speed of an object is :

e g A R F1 SRS T F

e wdt sizwd? |

AT 7m/s (B)

{C) 7m/s* (D)

7 mp
7 s/m

How many colours are
rainbow ?

Wﬁmﬂmﬁ% g2
s) 7

(B) 8

Q 6

(D)  None of these /B

there in

—
o)y 7/2 a5

{



31. Thermal electricity is generated by
using which of these ?
(A) Coalonly
(B)  Natural Gas only
(C) Both Coal, Nztural Gas

(D) None of these
T | g sudln w6 i faga
ST D AR ?
“A)  Faer e
(8) e Wit
¢ (C) v, wrshes g gl
(D) FFHAFEE

32. The gas usually fn!Fed in the electric
bulb is

(A) nitrogen

(B} hydrogen

VLZf carbon dioxide

oxygen

Torgga =e= o W i o At A 2
(A) 7"33}51'-1 N

(B) wgM

(C) e STgariagEe

(D) iedtsH

33. Which of the gas is not known as
greenhouse gas ?

(A)  Methane

(B) Nitrous oxide

(C) Carbon dioxide

(D) Hydrogen

mtﬁﬁqzﬂq’mﬂq%m 18T ST

o -;é.?

(A) v

(B) TEEH “iiampy
() wrEA ST3ATRmrry

o] Ege

- 36. Where do plants

34.  Ordinary table salt is Sodium chloride,
- What is baking soda ?
Jﬂ? Sodium bicarbonate
(B) Potassium carbonate
(C)  Potassium hydroxide
(D) None of these
TR 0 Wifesy Etvfmgg 21 a%n
VeI =ne ?
(A) Hifgan EIEC CEr ‘
(B) URRRmwENe

(0) IR ERIEEEs
(D) FHIAFE T

35. Ozone hole refers to
(A)  hole in ozone layer
(B) Increase in the ozone layer in
troposphere
'(C) decrcase in thickness of ozone
;o layer in stratosphere!
(D) None of these
mﬁa—aﬁmﬁam 2
(A) ST e e
(B) &uHEAH :ﬂ‘t—mqtaﬁqi’a

(oY A Hew # i i e
i
- (D) 5T AHHE T

receive their

nutrients mainly from ?

(A) chlorophyll

(B) sail
~(C) light .

(D) None of these ' .
T8 319} Gieh -~ &3 &9 F el & S
FWE 7

(A) IR
N4 ﬁ‘@

(C)

(D) Eﬁ@i?ﬁé"ﬁ

' - o511
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English Langu3age
|

]

" 37." Give the meaning of ‘To catch a tartar |

(A) To trep wanted criminal with .
great difficulty E '

(B} To catch a dangerous person 1

(C) toattack oroppose someonetoo
strong

To deal with a person who is "J

N

more than one's match |

g I
!
38. Give the synonym for DILEMMA

(A) Darkness

o |

39. Give the antonym for PERFECT

A

(B) Defect % g

Imperfect

(C} Complete ¥ L

(D) Ugly w

40. Give one word substitute for'— the
study of ancient societies

JA( History
(B) Archaeology S,
(C) .Anthropology
(D) Etymology "

0521

a1. Nick ___ travelling the world in
2008. (begin)

AT began v~

(B) beginning;
(C) will begin<{
(D) should begiy

42. My grandfather will come here

a week.
(A) Over (B) with
Jef within (D) On
43. Are ybu attending-__f__‘ reception
today ? :
(A) a ~ (Bf\ an
(C) the @)f No artide

44, Ram as well as his brothers
'~ coming today. "

AT are (B)
(C) is

were

(D) have been

45. He doesn’t need any help from us.
______itshould be us going to him for

help.
(A) Otherwise

AB) Onthe contrarf‘ v
(Q)  Thatis

(D} None o‘fthgsle g



46. ‘Tra’ 1 foreim wreg g |

(A) 3R

s meR

Q) 3m9e

(D) FHIFE AT
47. Fefaferdidsr-are Sgane
QT2 ?
(A) wfafes
(B) diaTaR
(C) aysfy
JP)  TEr-THt

e T S— .

‘GA/‘SI‘% ! g

(8) w

© =fa

(D) T A off e
49. ‘Tl Wi o wdt wit fyedg gamn )
(A) oq + Ifi
(B) = + r=mefi
W) EE + Inf

(D) Tar + Iff
\sn.

\k

% ol | EFTERWH{“(
?ﬁm mi

&)
_AB)
()
(D)

o ——— .

1., W= ® W W& qE FEe w3

a‘cﬂ?ﬁ 1

M T T
(B) wilEH 1 FEl o
(C) ST HIARH ~
(D) wft-=fi g -

52. ﬁmﬁmﬁﬁf{mmww
$IRm

(A)
B IEER
Q3 Sy
(D) ST oL -

IdFE

\

@) |
© fdw.
(0) FHIFETE

54. “Rren = g gy - -V EE ¥

——

70 T g T |
(A) =oft o
B S

Q) Ham w
(D) iRy

€

0521
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Which of the followmg is a word
processor 7

ﬁmﬁ%ﬁm@(ﬁ%ﬂ 7

\/Uk)’ MS Word . (_

(B) S Excel _
(C) WMS PowerPoint

(D) None of these /?ﬁ%ﬁi &

55.

56. Which of the following job scheduling
‘algorithms can be used in the Time
Sharing Operating Systems ?’

(A) First Come First Serve ¥
(B) ShortestJobFirst X .

\.id Round-robin 59.
(D) Noneof these

HTel HRWIH T=eH o R A} el
b mmﬂ@q@ﬁmmﬁmm
“GFh‘ﬁI B 7 Y

& 3Tt v WAl -
\(B) T B HE Wy
(©. TR |
(D) THAREAG

This feature of MS Excel allows you to
quickly fil! cells with repetitive or

sequential data such as consecutive

" . numbers, dates or time, and data in
~ series.

MS Excel ST T8 T&VT 37 eaftd &9 §
st e 2 9 AT |
Heans, arlka a1 gug 3 i 2T H
A A H e ST |

A4£)  AutoFill

(B) AutoFormat

(C) AutoSet

(D) .Noneofthese/ﬁﬁﬁ?ﬁls‘ﬁ'&’f

R

0521

. m———p —

. ITEWR ?

60.

cg. Which of the following is an example
of a hybrid computer ?

A thermometer J

A notebook 3

(D) Aspeedometer -/

= A ¥ B T T IEER SR W

(B) UIWH.TEHW
(D) =

() iR
(€) ARES

The work done in deforming the two
bodies is stored up as

(A) Plastit‘:\energy
(B) Elastic energy
V(Z)/ Strain energy [ -
(D) Stress energy
2 Frw ot frefa ww § fren s r
WEAEEE e .
(A) IS St
(B) IEGR Hwil
(@ Topfas
(0) wrE St
Forward motion of the dnver without
carrying the bekt with it, is called
(A) Twist  _48) Resting
g;T aSé;:lﬁaTQ (D) Slope
il qEH H m i afa B
(A) oo (8) it
(C)  wdor (D) aaﬁ



61. Centre of pressure is calculated bY
using the
(A)
(B)
(C)  Principle of moments

\,{D’)/ Principle of pressure
A g Y o S I HE o
TR :
(A) R (8) gm e REw

(€ siwlEa (0) @ eE

Principle of load
Principle of couple

62.
indicates,

— Stress ——yp
>
o
n

8]

SIrain =——

-y

(A) Proportional limit
Elastic limit
Upper yield point]

(B)
()

(D) Lower yield point

t'
In given stress-strain diagram, point ‘A" |

|

63. In modified Vander Waals equation,

(P+ &) (v—-b)=RT, the term b

represents

(A)
48)

(©)

(D) Pressure W

TN o AT adie |

(P+ %) v~ b) = R, F = bz
(A sl S s

(B) HTHeIE T =e

(C) wE-"Hl

(D} <=E

Attraction between moleculess
Force of cohesion .

Co-volume

64. Steam turbine works on which cycle ?
) Ottocycle (B) Rankine cycle~

(C) Diesel cycle(D) ™ Joule cycle X
T Zaits o = W R R 7

(A) 3E=FE (B) *tﬁh—-{azﬁ
(€ dewam (D) VEEm

-, 65. In casting, Solidification time is the -

functionof . .

(A} Volume of casting only

(B)  Surface area of casting only
,.-LQ’[/ Volume and surfage area of ]
(D) Total surface area only
R H, witAlsRese < 39
% 5 3
(A)

casting A

FaA HIRn B

(B) hI HITREN T Tag &
(C) =miie < T =i waw 8=
(D) <hae Fed Tag A

0521



66. In lron-Carbon diagram, maximum 69. Har:yana .was Known 2 "
solid solubility of -carbon, at a snaent tmes.
temperature of 727 °Cin alpha ferrite i, (A)  Bharatvarsh (B)  Brahmavarta
F-F v #, Fe Foge # (€) Achanersn(D) Vamng
: AC AR
727 Taft ¥fcasa & aTH wUwds ST R A S
Sifran 3 geaeitear @ T T AT AT |
A 077% 48 2.11% (] VRS RR] D
(@ 0022% (D) 43% () FEEE (D)
. ‘ . 70. Fullform of HOA s :
67. Different types of roll passes given (8], Haryana Oil Association
below. Select proper ‘sequence Haryana Clympics Association
accord&tng tc? operation from\optlon. (@ - Health & Olympics Authority
;' Finishing Passes . (D) Haryana Olympics Authority
3. i;euagkliz\;u:apasses,. S : mm@?\q%
. sses '. . N
1 A) EET ST Wit
ﬁﬁlﬁm%ﬂamﬁﬁqw%ﬁ ‘ ((a)) m%ﬁﬂ@iﬁtﬂ
Tererea 3 & weer & R SRE A e S
it . i () <ou g IAaeg g
2 R ': (D) T AEhEs Ea
1 2. RAFTIT UG : 71. Which scheme is being implemented
| 3. T ' 66')3);\).} to honour the girl child and to ensure
B ; that the girls from poor families and
A . - 4
- (lC; ;’ i'z \LB1/3, 2, _ daughters of Mdow[s_ldestitute
v W) 41,3 \il@ 2,3,1 , women, sports women and orphan girl
e ) : child, are married gracefully ?
| 63 'A spring of mass (m,) and stiffness (k) (A) Swadhar Grih Yojana
"~ isfixed atone end and carries mass (m) (B) Mukhyamantri Vivah Shagun
at another end. Tha natural frequency Yojana
of its longitudinal vibration is equal to (€} Mahila and Bal Suraksha Yojana
A (m,) 3 HIET (k) 6 s fBm (D)  Sakhi Yojana
@ﬁﬁmf&n@?f’r%a,ﬂ(@}mq}( VST HH 511 3k 7ie gfard
U gomm (m) B R | T s e T Sk favarsit [/ fofa
TR ITGRT T S R Afeesll Y wreRed, wida o 3R
Cow o=t PR e ¥ S0 ¥ v
ot s 2 AT ST & g woy & Rrg @ @
; \[BJ/ f:zl__’t . o l WW@WT&‘T% ?
' ) r ™MA) R T gty
-1 |3k .
© o o \A8) e forarg s dven
N | O) wtdem
" o521 1 A



72.

74.

Which script is used to write HaryanV!
l:—lng|_|;:u3e ? |
(A)
(8)
(C)

(D) None of the above -~

i’ﬂawﬁawf%@?{%wﬁ—mﬁﬁaﬁrﬁﬂt
T s e @ ?

(a) wepa  (8) &l
4 T (D) I 1 & S el

Sanskrit
Hindi

Devanagari

A
73. Haryana Is located in which part of

e
) North-Western v

(8)
(C):
(D} South-Western
hamm T S e i Ra R 7
(A)  STr-giEnl

(B) ZWI-E

(€) wieavi-uat

(D) efEor-uie

North-Eastern

South-Eastern

Which state lies to the South-West of
Haryana ?

. (A) Gujarat  (8)
) Rajasthan (D) Uttar Pradesh

m%aﬁm-ﬁﬁﬂﬁﬁqmm@a

Punjab

®7 A B ;
(A) TR (B) i
(€ TEER (D) ST

5.

12

76.

Who is nicknamed as Haryana

Hurricane ?
(]
8)

Kapil Dev

Nawab Mansoor Ali  Khan

Pataudi
(C)
(D) None of the above

=i gfe o 30w | FRR S ST
27 . %
(A) wfwed
B) T T Tl W T
V(o) e e A
(D) 390 | HIE T8

Neeraj Chopra

Which of the following state the in

country is first to implement the

‘Distress Ration Token Scheme” under
. the Aatma-Nirbhar Bharat Initiative ?

(A) (8) Rajasthan
{C}) Uttar Pradesh (D) Bihar
Brfafaa § & €9 o T AR
WA ves % qgd feRd UvE I
AT @) T aTer T TS ® 2
(A) whmon  uef TREE

© smww (o) faER

Haryana

-77.  Which of the following district has 2

modern hi-tech agricultural mall ?
{p) Fatehabad (B} Rewari
Q) M.ahendragarh (D) Rohtak
PP 1 3 Reg R i s T-
IHFAAEAE ?

(A) - HAEEE  (B) (AT
(© wEE P Agaa

. 0521
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78.

HSDC has a Seed Testing Lab at -
for testing seed samples to measure

quality.

(A)
(C)

Umri
Hatni

(B) Hunda
(D) None of the above

 ToTerT AT 36 fere =t 3 gt 3 alem

NI L
- ©

79

80.

81.

% fauw Hsoc i 7w i
glteor ST B | .

(B) Eor .
gz:ﬁ (D) sqﬂ‘rﬁﬁ'@rﬁéqﬁ
Indo-Dutch project was launched in

Haryana in collaboration with which
country ?

(A)
(C)

Spain
Portugal

(B)
(D)

Japan
Netherlands

-‘éﬁ’r—@uﬁthamgfmunﬁ%a%m%

TR Y IE K S o) ?
(A), & (B)
A e (D)

Modawala Mandir situated in the

district of Mahendergarh is dedlcated
to which God ?

(A) Lord Brahma (B) Lord Shiva

(C) Lord Krishna (D) Lord Vishnu
"eae e ® Ra e 6t fra
WA 1 FEfa g @
(A) Y9 &0
(C) T Foor

SIEIE]

BIREE

EUCIEARCH
(D) warT faeyy

Where is the temple of Balram, the
-elder'brother of lord Krishna located in
Haryana ?

- Palwa) (B) Raithal
(C) Kurukshetra (D) Panipat
WTHH F1 & 93 WIS Souy 1 7l
B H wg Ra 2
(A) Ueidcd (B) Ty«
(C) Fwa=A (D) artga

0521

82.

N

sheetla ™Mata Mandir located at

Gurugram is dedicated to
(A) Wife of Lord Shiva
(8) Wife of Pandvas
(c) Wife of Guru Dronacharya
(D) Wife of Lord Krishna
T fed Sfmwﬁ%qﬁmﬁa
27
(A}, WEAFER T
(B) - TiZAl =Bl U LN

ey TE R i aei

(D) HTE F i T«

On Republ‘ié day of 2021, where was
the flag hoisted by Haryana sCM?

(A) Jind

{B) Panchkula .
(C) Gurugram ;
(D) None of the above

2021 % TR g W, @fEnr
T gRT 31ST Ha] GEUAT T 9T ?
(a) Riw  (8y e

(C) UM (D) 3IT®H I BIS TS

84. Who was the first Chief Justice of

Punjab and Haryana High Court after
independence ?

(A)  SodhiRanjan Das
(B) Eric Weston
(C)  Amar Nath Bhandari
(D) Ram Lal .
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S6.

a7.

A

ic Surv
According to gconomic
many comm

Centres are there in Haryand a?
e e 202021 F 3&9“
ﬁ%a@a%zaw%ﬂ
{A) 70 (8) 100
(©) 110 @3/ 133_

21, how

ade
Nhich sportsperson has been M

brand ambassador of the scheme ‘Beti
Bachso and Beti Padhao” in Haryana ?
Szkshi Malik

{B) Vinash Phogat

{C) DzepaMalk
' {D] None of the ahove
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Block Development and Panchayat

Officer is selected for whic

h ti
Panchayat ? ler of

(A)  District Laye| .-
\£8)
(C) Viliage Leyey

(D) Honeoftheabove |
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9.

-Which of following dlstmt of Harvana

has the highest Male—Female Sex fatio
as per census 20117

(A) Nuh . - (B).

Ll b

Gurugram

“+ (C) -Ambala (D). Kurukshetra
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. The Shmallk hI“S are ,not found in

- which of the followmg dlstnct T

(A) ‘Ambala  (B)- ;Panchkula

Yamunanagar
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Sahatya Akademl Shrestha Kriti
* Awards, Story Awards and Manuscrlpt

i+ Grants for 2020 .in:Hindi and Haryanvi
; languages written by -

(A) . Mahendra Singh Sagar
i, (B) Baljlt S_}ngh 3ni
={C); Dr. Ashok Kumar
(D) Vijay Vibhor T | -
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